[BBYJU'S Odisha Board Class 10 Maths Part 1
Sample Paper 2014

ROIINO....oeeieii,
MATHEMATICS (REGULAR) (PART - 1)

SAMPLE QUESTION PAPER FOR HSC EXAMINATION, 2014
Time : 60 minutes Total Marks - 50

INSTRUCTIONS :

1. 50 multiple choice questions (MCQ) are given in part (A). All the questions are compulsory.
Each question carries 1 mark.

2.  For each question select the correct alternative from four given alternatives to answer the
question and darken the circle O a® by ball pen (Blue / Black) against the alphabet
corresponding to that alternative in the given OMR sheet.

1. 2x+3y = 74@° 3x + 2y = 3@ AMRAEIQEa Arikieg x —y eaee 2 | [SPace forroughwork]

From the solutions of simultaneous equations 2x+3y = 7[ and
3x + 2y = 3, what is the value of x —y ?

(A) 4 (B)-4 ©)2 (D)-2
2. X+y-1=049e° 2x + 2y = 242 ANRQE QAQ AR 696, 67D
RIQ 6QQ6 ?

Which is the solution set of the simultaneous equations x+y—1 =(0 and
2x+2y = 2 from the following ?

(A){(1,0)} (B) {(0,1)} (C) ¥a46<5. (Empty set)(DRIAIFIEAG! (Infinite set)
3. X6y <eRce 66IGN QR & B8 IR YRR Y9° Qde Jo1e e |
90 QUG UrQea ANEQ 3 g4 621NN, 6069 ..............

The unit's and ten’s place digit of a two digit number is x and y
respectively. If the number is three times the sum of the digits ¢f the
number then .......... L.

(A) x + 10y = 3x (B) 10x +y = 3(x+y)
(C) 10y + x = 3(x+y) (D) 3(10y +X) =x +y

4, KQeaa aAQ d 3x + ky — 9 = 046° X + 2y —3 = (R2-AMNFAEQR
L IS FRASIR 6269 ?

For which value of ‘k’ the simultaneous equations 3x + ky — 9 = ( and
X + 2y =3 = 0 are consistent and independent ?

(A) -2 (B) 2 (C)6 (D) -6
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10.

11.

X¥+ax—8= @QI@ ANRASIR 661G Q1R ‘4’ 626R, ‘A’ Q IR 6REE ?

If ‘4’ is a root of the quadratic equatioAx ax —8 = 0, then the value

(A) 2 (B) 4 (C) -2 (D) —4
5% —6x+1=0Q€l0 ANRQER F18QER QT @' ?

(A) IRQA QIR Q° AR (B) Q19Q¢ QI9Q 6 ZAR

(C) Q19QQ 2e (D) Q2RI 6R161AG Q62 |

What is the nature of the roots of the quadratic equatitn 6x+1=0?,
(A) roots are real and equal (B) roots are real and unequa
(C) roots are not real (D) None of the above.

3R X — 2 = RAKQEQ Q1@ o B B 626 o+ P AR ......... |

If oo and Pare the roots of the quadratic equatioh-3x— 2 = 0 then th
value ofor™™+ 7 .......... I

W1 @, ©-, 0)-1

‘K Q6a9 Ao AR kx?— 4x — 4 = (R g6RQR 64629 ?

For which value of ‘k’ the discriminant of kx 4x —4 =0is 64 ?
(A)1 (B) -3 €)3 (D)5

93 2k + 1, 133 5k—39@ A.P.Q @f@ dQ 9U8, 606 Kk = ........... |

If 2k + 1, 13 and 5k—3 are three consecutive terms of an A.P. the

[Space for rough work]

Df

117

(A) 17 (B) 13 (C) 4 (D)9
Q9@ 3,5, 7, 9eerene. ARN QAR Jea LICTR 28824 6069
n=...... |
If S, ofan A.P.3,5,7,9,.......... is288thenn=......... I
(A) 16 (B) 15 (C) 12 (D) 17
8,11, 14, 17...A.R 69Q 9% 272 ?
Which term of the A.P. 8, 11, 14, 17........ is 272 ?
(A) 72 (B) 73 (C) 70 (D) 89
2
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12. 9@ 6GIN AP.Q'S = 2r? + 3n29 6669 A.P.Q ARIRE 22Q ............ | [Space for rough work]
If Sn of an A.P. is 2+ 3n then the common difference of the A.P. is
............. |
(A) 13 (B) 4 (C)9 (D) -2
13. ‘A 9 9041 9 P(A) : P(A ) = 3:4626@ P(A) .......... L.

If ‘A'is an event and P(A) : P{ ) = 3:4 the P(A) = ................ l...
w5  ® ©° ©)

14. k<@ Q08I 626, k @ QAUG! P(K) ..coeve..en. |
The probability of the eventk is .............] L.....
(A) 0= P(k)>1 (B) 0< P(k)<1
©0>Pk) >1 (D)0<P(k)<1

15. 665N AgQdl Qe 5720 6 @em AN TRICH Al ... |

An unbiased coin is tossed thrice. Then the number of total outcomes is

(A) 2 (B)4 (C)6 (D)8
16. QG REEYITR 69 J6a 641N JPIRER 9N NY 69ITER ARG
i AR ARSI ............ |

Two balanced dice are rolled simultaneously. Then the probability that
the numbers coming on both the dice are prime is .....L........

2 1 1 1
w;  ®, © ©) ,
17. Q496916 MR AldAle 15.7 | 99 19 Mg @@ QP! AL AR

@QUUN 606Q QL@ ARIAIR .......... I

The mean of 10 observations is 15.7. If a new observation 19 is indluded,
then new meaniis ....... L...

(A) 17.6 (B) 16 (C) 13.8 (D) 34.7
18. 660N QEMIQRIR FRIFIR = GRER — 34e° FlIFI = 22 626m,
ARIFIR = oo |

If mean = mode — 3 and median = 22 of given data then mean = L{.........

(A) 19 (B) 21 (C) 24 (D) 23
3
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19.

20.

21.

22.

23.

24.

661N QIRRIRG! FERE! AIRSER @Q?j QAR QI@@@ QARG 259Q°
%‘@?j LU QIR 10626M, QO QIR QI%IGQ@ QAU ......... I

For a given frequency distribution, the cumulative frequency o

[Space for rough work]

the

fourth class is 25 and the frequency of the fourth class is 10. Then the

cumulative frequency of the third class is ...1.....
(A) 32 (B) 22 (C) 20 (D) 15

66ISN QIRRIaGl Goas ARy dnael eaN 2l 2fd = — 50,
2f = 2004e° 2o §9 A = 62.5.626@ GEMIRTQ ARIAIR .......... |

For a given frequency distributidf.d = — 50, f. = 200 and assumed

mean A = 62.5. Then the mean of the frequency distribution id ...
(A) 62.25 (B) 64.45 (C)61.2 (D) 61.5
AABC @ €186909e el A (3,4), B(0,0)4e° C(6,0)626@ ARIA
AD Q668G ...ovvveven. |

If the vertices oAABC are A (3,4), B(0,0), and C(6,0); then the len
of medianAD is ............ .

(A) 6 (B) 5 (C) 4 (D)3

A(3,-6)8 B(=2, 1) | AB q 3 : 22Q0I06a 2e3faa a9l P 89Q

The co-ordinates of point A and B are A(3,-6) and B(-2, —1). Th
ordinates of P dividingAB in the ratio 3:2 is ..........] [

(A) P(4,-5) (B)P(2,-5) (C) P(1,-4) (D) P(0,-3)
AABC @ 1869990 geie A(3,0), B(0,3)8 C(3,3)626m AABC 630TR
............ Qo o |

(A) 9 (B) 4.5 (C) 6 (D) 3

‘A Q699 AR AR P(3,a)M9° Q(4,1)a4 AIEQ 9a6! V10 9@ 689 ?

th

(=]

2 CO-

and

For what value of ‘a’, the distance between the points P(3,a) and Q(4,1)

is V10 unit ?
(A) 4 (B) -3 (C) 2 (D) 0
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25. ABCD9Qeee ¢198gaaa geis A(0,0), B(2,0), C (2,2)e° D(0,2)| [Space for rough work]
626/ 9QYRE I ... |
(A) 9969 (B) @ag
(C) 2Igose (D) QId@aea

If the vertices of ABCD quadrilateral are A(0,0), B(2,0), C (2,2) [and
D(0,2) then ABCD quadrilateralis a ........ L....

(A) square (B) Rhombus
(C) Rectangle (D) Trapezium

26. AABC6Q ZA Q q0G¢sa BC 9 D G960 629 @6Q | AABD Q 6800%
8 AACD Q 690 2QUIO ............... |

In AABC the bisector oA intersectsBC at D. Then the ratio of ar¢a
of AABD and area oAACD is .............. I
(A) AB + AC : AB (B) AB: AC
(C)AC: AB (D) AC + AB : AC

27. AABC6am/B =90, BD 0 AC. 9% AD = 864.61. 3 CD = 106Q.41.
2, 6069 AB Q 640G ................ |

In AABC mzB=9C, BD 0 AC. If AD =8 cm and CD = 10 cm then

the length ofAB = ........ I
(A)14cm. (B) 16 cm. (C)12cm. (D) 9 cm.

28. 691N QA Y@ Y, QA MATA V2 gd 626R QAQ YR YAITR
Q9 2RI ....... |

If the length of chord of a circle ig2 times of its radius, then tie
degree measure of the minor arcis ....... I......
(A) 3C° (B) 45 (C) 60 (D) 90

29. 1062.f. QA B3 651N QRER Y@ 94l 98 699] 662.8. 906
26m YR 6TQN....... |

A chord is at a distance of 6 cm from the centre of a circle of radius
10 cm. Then the length of the chord is ...l.....

(A) 4 cm. (B) 16 cm. (C) 8 cm. (D) 32 cm.
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30. 6616 Q@ AxD @ 691 9flE 140 | A 6 B 06 266 2de Qae | [Space forroughwork]
6800Q P 626m MLAPB = .............. !

The degree measure AXB is 140 in a circle. If the tangents drawn
at A and B intersect at P then4APB = .............. L.

(A) 40° (B) 50° (C) 20 (D) 30°

31. Y9 QAe JAREe 0QURR 9@ FURIe QgR 6PWia AAd 12 6a.d.
626 9QRRQ AR ........ |

The sum of the lengths of the two opposite sides of circumscriping
guadrilateral of a circle is 12 cm. Then the perimeter of the quadrilgteral

IS e L
(A)48cm. (B) 24 cm. (C) 12 cm. (D) 36 cm.
<~ — D @
32. didg @@6@ AB Q44 4Q° O Q@R 6@ |
29 m£ADC = 118 29 A . B
O

6069, mLBDC = ............. I

In the given figure ‘O’ is the centre of the circle ax@l is the diameter
If m£ZADC = 118 then n¥BDC = ............ |

(A) 38 (B) 56 (C) 28 (D) 18

33. T 6Q.8. AT T Y@ AR ASRFE AR FYFR VLR 6T
@60 ?
The length of the side of an equilateral triangle inscribed in a circle of
radiusris .......... l..
(A) rcm. (B) v2r cm. (C) 2rcm. (D)J3r cm.

34. 36Q.4. QAR 98 9@ 9 ofsg PAgq 9@ 9F ARe e 98 QO
PA 6 PB | MZAPB = 60 626R PA @ 686Y ............ |

PA and PBare the two tangents segments drawn from an extgrnal
point ‘P’ to a circle of radius 3 cm. If MAPB = 6@ then the length of

PAIS oo, L.

(AY3cm.  (B)3/3cm. (C) 12/3 cm. (D) 2 cm.
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35.

36.

37.

38.

agg 596 9@ 93 T G6Q ARE

Qde PQI y = 2x9° mZRTP = 80 M

ce6m, MLZMTR = .......... |
Q
In the given figurePQ is a tangent to the circle at T. If y = 2x &
MZRTP = 80then nKMTR = .......... L
(A) 60° (B) 8¢ (C) 20 (D) 4@

QRE CRINEE Q8 95 AR ARG AR U 6266 ?

The number of tangents can be drawn to two intersecting circl
MOst is .......... L.

(A)1 (B)2 (C)3 (Dele), 6@161dG @62 (None of these

1
AABC ~ADEF @° EF = 3 BC 626m,

AABC Q@ 630d% : ADEFQ 6909 = ............ |

If AABC ~ADEF and EF ::13 BC, then

Area of AABC : Area ofADEF = ............ |

(A) 1.9 (B) 1:3 (© 91 (D) 3:1
aigg 6e6a mZPQR = n¥PRS | 5
99 PR = 84Q.8. 9@° PS = 46Q.4..
606 PQ = .......... ! S
In the given figure @PQR = nPRS.
IfPR=8cmand PS=4cm
then PQ = ........... | Q R
(A) 12 cm. (B) 16 cm.
(C)32cm. (D) 24 cm.

7
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39.

40.

41.

42.

43.

~ ~ < r ~ ~
60N 6R17Q YR AR IQ° @@ QP'C| D2IREE EGQ.Q. @ £64.41.

626/, N2IQ 7Y YRR 6IQTR 6R60 A6l 62.41. 2

If the radius of the base and slant height of a congedm and cm

respectively, then the total surface area of the cone in square

(A)2rre  (B) mr(¢+r) (C) nr(% + i) (D) 2rr(€ + r)

ARG 60INRQ ZVEPR ARG 64:27626m, EANRFTR MNIAQ AQLUE

If the ratio of the volumes of two spheres is 64:27 then the ratio of
diameters is ....... L.

(A) 16:9 (B) 8 :3 (C)10:7 (D)4:3
99 661G QREQ U@ QIR Ggll AR 9C° 29, 6669 QId &° QAR
R UG ....... |

If the degree measure of an arc of a circle fstB@n the ratio of the ar
to its circumference is ....... ...

(A)3:4 (B) 1:3 (C) 14 (D)2:3
691N GePI9E 9f Fde JRMR Yt 680TR 3094 62.4. e° ABeR
1509 62.91 626 RN ARD............. |

The triangular base area of a prism is 30dfhthe volume of the prisnm

is 150 cnd, then its height is .......... l..
(A)10cm (B) 15cm (C)5cm. (D) 20 cm

~ < 5
66N Q@RI 6JCTR, LI QR VTR 18 A<l 6LEM QRAPWIR

QIOQ Qg1 9RAL ............. |

. 5 .
If the area of a sector of a cwclelig parts of the area of the circle the

the degree measure of the arc of the sector is ...I.........
(A) 120 (B) 90 (C) 60 (D) 100

[Space for rough work]
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44,

45.

46.

47.

48.

49.

50.

661G 6QIRRR JIONR CAYTM 1549.62.41. 626/ 1210 YA 62.81.6Q

........... | (n=2)

If the surface area of a sphere is 154 tlran, the radius of the sph
................ cm (n=2)

(A) 15 (B) 7.5 <7 (D) 3.5

601G AREQIRE AR JIRQ 6FRTR 264Q.8. Ne° UAeR 924441,
626@, 34 QFQ QU ............ |

The curved surface area of a cylindrical pillar is 264lfithe volume
of the pillar is 924 rmthen, diameter of the base is ......... l.....

(A)14m. (B)7m. (C) 21 m. (D) 10.5 m.
(1+tanlf (1+tan30) @ A ............. |

The value of (1+tan®Pp(1+tan30) is ........... I

(A1 (B)O (€)1 (D) 2
cos(48+0) . cos(12—-0) — sin 48+0) . sin (12 0) @ AL ............. |

The value of cos(486) . cos(12 — 0) — sin 48+0) . sin (12 -6)
(S l.

1 1 V3 V3
A 5 B)-, © % (D)5
sin162 + cos183 o o |
cos72 - cos2¥
The value ofsmméj + cos153 IS ... ... .. L.
cos72 — cos2¥
(A)O (B)1 (C)-1 (DYelQ 681636 @62 (None of these)

coset(97° + o) — cot (83 —a) Q @ ............. |

The value of cosé(@7 +a) —cot (8 —-a) is ............ .

(A) O (B) -1 (C)2 (D)1

6915\ AIRRIR AIPE9Q X {. A6 @ F9Q ZFIRRIR TR 6MER
2900 JAIE 30° 626 ZFIRRIQ QLG ..........] |

The angle of the elevation of the top of the tower from a point
away from the tower is 30Then the height of the tower is ...... L....

1 1
(A) x m. (B) /3 xm. © B Xm. (D) 2 Xm.

[Space for rough work]
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